# Some Infinite Sums Related to the $\boldsymbol{k}$-Fibonacci Numbers 

Onur Karaoğlu* and Kemal Uslu<br>Selçuk University, Faculty of Science, Department of Mathematics, 42075, Konya, Turkey<br>*Corresponding author: okaraoglu@selcuk.edu.tr


#### Abstract

In this study, some infinite sums related to the $k$-Fibonacci numbers have been obtained by using infinite sums related to classic Fibonacci numbers in literature.


Keywords. Infinite sums; Fibonacci numbers
MSC. 11B39; 11B65
Received: March 1, $2018 \quad$ Accepted: July 28, 2018
Copyright © 2018 Onur Karaoğlu and Kemal Uslu. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

## 1. Introduction

The well-known Fibonacci sequence and the golden ratio with the many interesting features [2, 11, 13], have been attracted attention of theoretical physics [1, 5, 6], engineerings [4, 14], architects [3, 8], orthodontics [12] as much as mathematicians. Numerous features of this interesting number sequence have been found over time [9]. Different number sequences, such as the Pell and Lucas number sequences that relate to Fibonacci sequence, have been discussed along with studies on Fibonacci sequence, and their different generalizations have been mentioned [10]. Similarly, Falcon and Plaza introduced the $k$-Fibonacci sequence, which is a generalization of these number sequences, giving the classic Fibonacci sequence and the classic Pell sequence for $k=1$ and $k=2$, respectively. For any integer number $k \geqslant 1$, the $k$ th Fibonacci sequence $\left\{F_{n, k}\right\}_{n \in \mathbb{N}}$ is defined recurrently by

$$
\begin{equation*}
F_{k, n+1}=k F_{k, n}+F_{k, n-1}, \quad(n \geqslant 1) \tag{1.1}
\end{equation*}
$$

where $F_{k, 0}=0, F_{k, 1}=1$. The solution of the equation (1.1) is

$$
\begin{equation*}
F_{k, n}=\frac{r_{1}^{n}-r_{2}^{n}}{r_{1}-r_{2}} \tag{1.2}
\end{equation*}
$$

where the roots of characteristic equation of (1.1) are $r_{1}=\frac{k+\sqrt{k^{2}+4}}{2}, r_{2}=\frac{k-\sqrt{k^{2}+4}}{2}$ [7].
In this study, based on the some infinite sums of the Fibonacci numbers [15] is investigated counterparts in the $k$-Fibonacci numbers.

## 2. Main Results

In this section, we obtain some results related to the $k$-Fibonacci numbers by using [15]. Also, the equalities given for the infinite sums in the theorems corresponds to the limit phrase of the sums.

Theorem 2.1. For $k$-Fibonacci numbers, the equality

$$
\begin{equation*}
\sum_{n=1}^{\infty} \frac{1}{F_{k, n}}=\frac{k^{2}+k+1}{k^{2}}+\sum_{n=2}^{\infty} \frac{(-1)^{n}}{F_{k, n-1} F_{k, n} F_{k, n+1}} \tag{2.1}
\end{equation*}
$$

holds.

Proof. We can write the equality

$$
\sum_{s=2}^{n}\left(\frac{1}{F_{k, s}}-\frac{F_{k, s}}{F_{k, s-1} F_{k, s+1}}\right)=\sum_{s=2}^{n}\left(\frac{F_{k, s-1} F_{k, s+1}-F_{k, s}^{2}}{F_{k, s-1} F_{k, s} F_{k, s+1}}\right) .
$$

By using Cassini formula [7]

$$
F_{k, n-1} F_{k, n+1}-F_{k, n}^{2}=(-1)^{n}
$$

for $k$-Fibonacci numbers in above equality, we have

$$
\begin{equation*}
\sum_{s=2}^{n}\left(\frac{1}{F_{k, s}}-\frac{F_{k, s}}{F_{k, s-1} F_{k, s+1}}\right)=\sum_{s=2}^{n}\left(\frac{(-1)^{s}}{F_{k, s-1} F_{k, s} F_{k, s+1}}\right) . \tag{2.2}
\end{equation*}
$$

On the other hand, it is obvious from equation (1.1)

$$
\begin{aligned}
\sum_{s=2}^{n} \frac{F_{k, s}}{F_{k, s-1} F_{k, s+1}}= & \frac{1}{k} \sum_{s=2}^{n} \frac{F_{k, s+1}-F_{k, s-1}}{F_{k, s-1} F_{k, s+1}} \\
= & \frac{1}{k} \sum_{s=2}^{n}\left(\frac{1}{F_{k, s-1}}-\frac{1}{F_{k, s+1}}\right) \\
= & \frac{1}{k}\left[\left(\frac{1}{F_{k, 1}}-\frac{1}{F_{k, 3}}\right)+\left(\frac{1}{F_{k, 2}}-\frac{1}{F_{k, 4}}\right)+\left(\frac{1}{F_{k, 3}}-\frac{1}{F_{k, 5}}\right)+\ldots\right. \\
& \left.+\left(\frac{1}{F_{k, n-3}}-\frac{1}{F_{k, n-1}}\right)+\left(\frac{1}{F_{k, n-2}}-\frac{1}{F_{k, n}}\right)+\left(\frac{1}{F_{k, n-1}}-\frac{1}{F_{k, n+1}}\right)\right] \\
= & \frac{1}{k}\left[\left(1+\frac{1}{k}\right)-\left(\frac{1}{F_{k, n}}+\frac{1}{F_{k, n+1}}\right)\right] .
\end{aligned}
$$

If the limits of both sides of the last equation are taken for $n \rightarrow \infty$, then we have

$$
\lim _{n \rightarrow \infty} \sum_{s=2}^{n} \frac{F_{k, s}}{F_{k, s-1} F_{k, s+1}}=\lim _{n \rightarrow \infty} \frac{1}{k}\left[\left(1+\frac{1}{k}\right)-\left(\frac{1}{F_{k, n}}+\frac{1}{F_{k, n+1}}\right)\right] .
$$

From equation (1.2), we write

$$
\begin{aligned}
\lim _{n \rightarrow \infty} \sum_{s=2}^{n} \frac{F_{k, s}}{F_{k, s-1} F_{k, s+1}} & =\lim _{n \rightarrow \infty} \frac{1}{k}\left[\left(1+\frac{1}{k}\right)-\frac{r_{1}-r_{2}}{\left.r_{1}^{n}-r_{2}^{n}-\frac{r_{1}-r_{2}}{r_{1}^{n+1}-r_{2}^{n+1}}\right]}\right. \\
& =\lim _{n \rightarrow \infty} \frac{1}{k}\left[\left(1+\frac{1}{k}\right)-\frac{r_{1}-r_{2}}{r_{1}^{n}\left[1-\left(\frac{r_{2}}{r_{1}}\right)^{n}\right]}-\frac{r_{1}-r_{2}}{r_{1}^{n+1}\left[1-\left(\frac{r_{2}}{r_{1}}\right)^{n+1}\right]}\right] .
\end{aligned}
$$

It is obvious that $\lim _{n \rightarrow \infty}\left(\frac{r_{2}}{r_{1}}\right)^{n}=0$ from $r_{2}<r_{1}$. Thus we have

$$
\sum_{n=2}^{\infty} \frac{F_{k, n}}{F_{k, n-1} F_{k, n+1}}=\frac{k+1}{k^{2}} .
$$

If the limits of both sides of equation (2.2) are taken for $n \rightarrow \infty$, then we have

$$
\lim _{n \rightarrow \infty} \sum_{s=2}^{n}\left(\frac{1}{F_{k, s}}-\frac{F_{k, s}}{F_{k, s-1} F_{k, s+1}}\right)=\lim _{n \rightarrow \infty} \sum_{s=2}^{n}\left(\frac{(-1)^{s}}{F_{k, s-1} F_{k, s} F_{k, s+1}}\right) .
$$

From the last equation, we can write

$$
\sum_{n=2}^{\infty} \frac{1}{F_{k, n}}=\sum_{n=2}^{\infty}\left(\frac{F_{k, n}}{F_{k, n-1} F_{k, n+1}}+\frac{(-1)^{n}}{F_{k, n-1} F_{k, n} F_{k, n+1}}\right) .
$$

Thus, we obtain

$$
\begin{aligned}
\sum_{n=1}^{\infty} \frac{1}{F_{k, n}} & =\frac{1}{F_{k, 1}}+\sum_{n=2}^{\infty}\left(\frac{F_{k, n}}{F_{k, n-1} F_{k, n+1}}+\frac{(-1)^{n}}{F_{k, n-1} F_{k, n} F_{k, n+1}}\right) \\
& =1+\frac{k+1}{k^{2}}+\sum_{n=2}^{\infty} \frac{(-1)^{n}}{F_{k, n-1} F_{k, n} F_{k, n+1}} \\
& =\frac{k^{2}+k+1}{k^{2}}+\sum_{n=2}^{\infty} \frac{(-1)^{n}}{F_{k, n-1} F_{k, n} F_{k, n+1}} .
\end{aligned}
$$

Theorem 2.2. For $n \geq 2$, the equality

$$
\sum_{n=2}^{\infty} \frac{1}{F_{k, n-1} F_{k, n+1}}=\frac{1}{k^{2}}
$$

## holds.

Proof. We can write the equality

$$
\sum_{s=2}^{n} \frac{1}{F_{k, s-1} F_{k, s+1}}=\sum_{s=2}^{n} \frac{F_{k, s}}{F_{k, s-1} F_{k, s} F_{k, s+1}} .
$$

From the equation (1.1), we have

$$
\begin{aligned}
\sum_{s=2}^{n} \frac{1}{F_{k, s-1} F_{k, s+1}}= & \sum_{s=2}^{n} \frac{1}{k}\left[\frac{F_{k, s+1}-F_{k, s-1}}{F_{k, s-1} F_{k, s} F_{k, s+1}}\right] \\
= & \frac{1}{k} \sum_{s=2}^{n}\left(\frac{1}{F_{k, s-1} F_{k, s}}-\frac{1}{F_{k, s} F_{k, s+1}}\right) \\
= & \frac{1}{k}\left[\left(\frac{1}{F_{k, 1} F_{k, 2}}-\frac{1}{F_{k, 2} F_{k, 3}}\right)+\left(\frac{1}{F_{k, 2} F_{k, 3}}-\frac{1}{F_{k, 3} F_{k, 4}}\right)+\ldots\right. \\
& \left.+\left(\frac{1}{F_{k, n-2} F_{k, n-1}}-\frac{1}{F_{k, n-1} F_{k, n}}\right)+\left(\frac{1}{F_{k, n-1} F_{k, n}}-\frac{1}{F_{k, n} F_{k, n+1}}\right)\right]
\end{aligned}
$$

$$
=\frac{1}{k}\left[\frac{1}{F_{k, 1} F_{k, 2}}-\frac{1}{F_{k, n} F_{k, n+1}}\right]=\frac{1}{k}\left[\frac{1}{k}-\frac{1}{F_{k, n} F_{k, n+1}}\right] .
$$

If the limits of both sides of the last equation are taken for $n \rightarrow \infty$, then we can write

$$
\lim _{n \rightarrow \infty} \sum_{s=2}^{n} \frac{1}{F_{k, s-1} F_{k, s+1}}=\lim _{n \rightarrow \infty} \frac{1}{k}\left[\frac{1}{k}-\frac{1}{F_{k, n} F_{k, n+1}}\right] .
$$

By considering $\lim _{n \rightarrow \infty} \frac{1}{F_{k, n} F_{k, n+1}}=0$, we obtain

$$
\sum_{n=2}^{\infty} \frac{1}{F_{k, n-1} F_{k, n+1}}=\frac{1}{k^{2}} .
$$

Theorem 2.3. For $n \geq 1$, the equality

$$
\sum_{n=1}^{\infty} \frac{1}{F_{k, n} F_{k, n+2}^{2} F_{k, n+3}}+\sum_{n=1}^{\infty} \frac{1}{F_{k, n} F_{k, n+1}^{2} F_{k, n+3}}=\frac{1}{k^{3}\left(k^{2}+1\right)}
$$

holds.

Proof.

$$
\begin{aligned}
\sum_{s=1}^{n} & \frac{1}{F_{k, s} F_{k, s+2}^{2} F_{k, s+3}}+\sum_{s=1}^{n} \frac{1}{F_{k, s} F_{k, s+1}^{2} F_{k, s+3}} \\
& =\sum_{s=1}^{n}\left(\frac{F_{k, s+1}}{F_{k, s} F_{k, s+1} F_{k, s+2}^{2} F_{k, s+3}}+\frac{F_{k, s+2}}{F_{k, s} F_{k, s+1}^{2} F_{k, s+2} F_{k, s+3}}\right) .
\end{aligned}
$$

From the equation (1.1), we can write the following equality

$$
\begin{aligned}
= & \frac{1}{k} \sum_{s=1}^{n}\left(\frac{F_{k, s+2}-F_{k, s}}{F_{k, s} F_{k, s+1} F_{k, s+2}^{2} F_{k, s+3}}+\frac{F_{k, s+3}-F_{k, s+1}}{F_{k, s} F_{k, s+1}^{2} F_{k, s+2} F_{k, s+3}}\right) \\
= & \frac{1}{k} \sum_{s=1}^{n}\left[\frac{1}{F_{k, s} F_{k, s+1}^{2} F_{k, s+2}}-\frac{1}{F_{k, s+1} F_{k, s+2}^{2} F_{k, s+3}}\right] \\
= & \frac{1}{k}\left[\left(\frac{1}{F_{k, 1} F_{k, 2}^{2} F_{k, 3}}-\frac{1}{F_{k, 2} F_{k, 3}^{2} F_{k, 4}}\right)+\left(\frac{1}{F_{k, 2} F_{k, 3}^{2} F_{k, 4}}-\frac{1}{F_{k, 3} F_{k, 4}^{2} F_{k, 5}}\right)+\ldots\right. \\
& \left.+\frac{1}{F_{k, n} F_{k, n+1}^{2} F_{k, n+2}}-\frac{1}{F_{k, n+1} F_{k, n+2}^{2} F_{k, n+3}}\right] .
\end{aligned}
$$

Thus, we obtain

$$
\sum_{s=1}^{n} \frac{1}{F_{k, s} F_{k, s+2}^{2} F_{k, s+3}}+\sum_{s=1}^{n} \frac{1}{F_{k, s} F_{k, s+1}^{2} F_{k, s+3}}=\frac{1}{k}\left[\frac{1}{k^{2}\left(k^{2}+1\right)}-\frac{1}{F_{k, n+1} F_{k, n+2}^{2} F_{k, n+3}}\right] .
$$

If the limits of both sides of the last equation are taken for $n \rightarrow \infty$, then we can write

$$
\begin{aligned}
& \lim _{n \rightarrow \infty}\left(\sum_{s=1}^{n} \frac{1}{F_{k, s} F_{k, s+2}^{2} F_{k, s+3}}+\sum_{s=1}^{n} \frac{1}{F_{k, s} F_{k, s+1}^{2} F_{k, s+3}}\right) \\
& \quad=\lim _{n \rightarrow \infty} \frac{1}{k}\left[\frac{1}{k^{2}\left(k^{2}+1\right)}-\frac{1}{F_{k, n+1} F_{k, n+2}^{2} F_{k, n+3}}\right] .
\end{aligned}
$$

By considering $\lim _{n \rightarrow \infty} \frac{1}{F_{k, n+1} F_{k, n+2}^{2} F_{k, n+3}}=0$, we obtain

$$
\sum_{n=1}^{\infty} \frac{1}{F_{k, n} F_{k, n+2}^{2} F_{k, n+3}}+\sum_{n=1}^{\infty} \frac{1}{F_{k, n} F_{k, n+1}^{2} F_{k, n+3}}=\frac{1}{k^{3}\left(k^{2}+1\right)} .
$$

Theorem 2.4. For $k$-Fibonacci numbers, the equalities
(a) $F_{k, n+1}=\prod_{s=1}^{n}\left(k+\frac{F_{k, s-1}}{F_{k, s}}\right)$,
(b) $\frac{F_{k, n+1}}{F_{k, n}}=k+\sum_{s=2}^{n} \frac{(-1)^{s}}{F_{k, s} F_{k, s-1}}$.
hold.

Proof. (a)

$$
F_{k, n+1}=\frac{F_{k, n+1} F_{k, n} F_{k, n-1} \ldots F_{k, 2}}{F_{k, n} F_{k, n-1} \ldots F_{k, 2} F_{k, 1}}=\prod_{s=1}^{n}\left(\frac{F_{k, s+1}}{F_{k, s}}\right) .
$$

From the equation (1.1), we have

$$
F_{k, n+1}=\prod_{s=1}^{n}\left(\frac{k F_{k, s}+F_{k, s-1}}{F_{k, s}}\right)=\prod_{s=1}^{n}\left(k+\frac{F_{k, s-1}}{F_{k, s}}\right) .
$$

(b)

$$
\begin{aligned}
\frac{F_{k, n+1}}{F_{k, n}} & =\left(\frac{F_{k, n+1}}{F_{k, n}}-\frac{F_{k, n}}{F_{k, n-1}}\right)+\left(\frac{F_{k, n}}{F_{k, n-1}}-\frac{F_{k, n-1}}{F_{k, n-2}}\right)+\ldots+\left(\frac{F_{k, 3}}{F_{k, 2}}-\frac{F_{k, 2}}{F_{k, 1}}\right)+\frac{F_{k, 2}}{F_{k, 1}} \\
& =k+\sum_{s=2}^{n}\left(\frac{F_{k, s+1}}{F_{k, s}}-\frac{F_{k, s}}{F_{k, s-1}}\right) \\
& =k+\sum_{s=2}^{n}\left(\frac{F_{k, s+1} F_{k, s-1}-F_{k, s}^{2}}{F_{k, s} F_{k, s-1}}\right) .
\end{aligned}
$$

From Cassini formula for $k$-Fibonacci numbers, we obtain

$$
\frac{F_{k, n+1}}{F_{k, n}}=k+\sum_{s=2}^{n}\left(\frac{(-1)^{s}}{F_{k, s} F_{k, s-1}}\right) .
$$

Theorem 2.5. For $k$-Fibonacci numbers, the equality

$$
\sum_{n=1}^{\infty} \frac{F_{k, n}}{F_{k, n+1} F_{k, n+2}}=\frac{1}{k^{2}}+(1-k)\left(\sum_{n=2}^{\infty} \frac{(-1)^{n}}{F_{k, n-1} F_{k, n} F_{k, n+1}}\right)
$$

holds.

Proof. From the equation (1.1), we can write

$$
\begin{aligned}
\sum_{s=1}^{n} \frac{F_{k, s}}{F_{k, s+1} F_{k, s+2}}= & \sum_{s=1}^{n} \frac{F_{k, s+2}-k F_{k, s+1}}{F_{k, s+1} F_{k, s+2}}=\sum_{s=1}^{n}\left(\frac{1}{F_{k, s+1}}-\frac{k}{F_{k, s+2}}\right) \\
= & {\left[\frac{1}{F_{k, 2}}-\frac{k}{F_{k, 3}}+\frac{1}{F_{k, 3}}-\frac{k}{F_{k, 4}}+\frac{1}{F_{k, 4}}-\frac{k}{F_{k, 5}}+\ldots\right.} \\
& \left.+\frac{1}{F_{k, n}}-\frac{k}{F_{k, n+1}}+\frac{1}{F_{k, n+1}}-\frac{k}{F_{k, n+2}}\right]
\end{aligned}
$$

$$
\begin{aligned}
= & \frac{1}{F_{k, 2}}-\frac{k}{F_{k, n+2}}+(1-k)\left(\frac{1}{F_{k, 3}}+\frac{1}{F_{k, 4}}+\ldots+\frac{1}{F_{k, n}}+\frac{1}{F_{k, n+1}}\right) \\
= & \frac{1}{F_{k, 2}}-\frac{k}{F_{k, n+2}}+(1-k)\left[\left(\frac{1}{F_{k, 1}}+\frac{1}{F_{k, 2}}+\frac{1}{F_{k, 3}}+\frac{1}{F_{k, 4}}+\ldots+\frac{1}{F_{k, n}}\right)\right. \\
& \left.+\left(\frac{1}{F_{k, n+1}}-\frac{1}{F_{k, 1}}-\frac{1}{F_{k, 2}}\right)\right]
\end{aligned}
$$

From Theorem 2.1, we have

$$
\begin{aligned}
\sum_{s=1}^{n} \frac{F_{k, s}}{F_{k, s+1} F_{k, s+2}}= & \frac{1}{F_{k, 2}}-\frac{k}{F_{k, n+2}}+(1-k)\left[\frac{k^{2}+k+1}{k^{2}}+\sum_{s=2}^{n} \frac{(-1)^{s}}{F_{k, s-1} F_{k, s} F_{k, s+1}}\right. \\
& \left.+\left(\frac{1}{F_{k, n+1}}-\frac{1}{F_{k, 1}}-\frac{1}{F_{k, 2}}\right)\right] .
\end{aligned}
$$

If the limits of both sides of the last equation for $n \rightarrow \infty$ are taken and necessary arrangements are made, then we write

$$
\begin{aligned}
\lim _{n \rightarrow \infty} \sum_{s=1}^{n} \frac{F_{k, s}}{F_{k, s+1} F_{k, s+2}}= & \lim _{n \rightarrow \infty}\left[\frac{1}{F_{k, 2}}-\frac{k}{F_{k, n+2}}+(1-k)\left[\frac{k^{2}+k+1}{k^{2}}+\sum_{s=2}^{n} \frac{(-1)^{s}}{F_{k, s-1} F_{k, s} F_{k, s+1}}\right.\right. \\
& \left.\left.+\left(\frac{1}{F_{k, n+1}}-\frac{1}{F_{k, 1}}-\frac{1}{F_{k, 2}}\right)\right]\right] .
\end{aligned}
$$

By considering $\lim _{n \rightarrow \infty} \frac{k}{F_{k, n+2}}=0$ and $\lim _{n \rightarrow \infty} \frac{1}{F_{k, n+1}}=0$, we obtain

$$
\sum_{n=1}^{\infty} \frac{F_{k, n}}{F_{k, n+1} F_{k, n+2}}=\frac{1}{k^{2}}+(1-k)\left(\sum_{n=2}^{\infty} \frac{(-1)^{n}}{F_{k, n-1} F_{k, n} F_{k, n+1}}\right) .
$$

Theorem 2.6. For $k$-Fibonacci numbers, the equality

$$
\sum_{n=1}^{\infty} \frac{F_{k, n+1}}{F_{k, n} F_{k, n+3}}=\frac{k^{4}+k^{3}+2 k^{2}+1}{k^{2}\left(k^{2}+1\right)^{2}}+\frac{1-k}{k^{2}+1}\left(\sum_{n=2}^{\infty} \frac{(-1)^{n}}{F_{k, n-1} F_{k, n} F_{k, n+1}}\right)
$$

## holds.

Proof. From the equation (1.1), we can write

$$
\begin{aligned}
F_{k, s+3} & =k F_{k, s+2}+F_{k, s+1} \\
& =k\left(k F_{k, s+1}+F_{k, s}\right)+F_{k, s+1} \\
& =\left(k^{2}+1\right) F_{k, s+1}+k F_{k, s} .
\end{aligned}
$$

From the last equation, it is obvious

$$
\begin{equation*}
F_{k, s+1}=\frac{1}{k^{2}+1}\left[F_{k, s+3}-k F_{k, s}\right] . \tag{2.3}
\end{equation*}
$$

By using the equaiton (2.3) in the following equation, we have

$$
\begin{aligned}
\sum_{s=1}^{n} \frac{F_{k, s+1}}{F_{k, s} F_{k, s+3}} & =\frac{1}{k^{2}+1} \sum_{s=1}^{n}\left(\frac{F_{k, s+3}-k F_{k, s}}{F_{k, s} F_{k, s+3}}\right) \\
& =\frac{1}{k^{2}+1} \sum_{s=1}^{n}\left(\frac{1}{F_{k, s}}-\frac{k}{F_{k, s+3}}\right) .
\end{aligned}
$$

From the last sum, we can write

$$
\begin{aligned}
\sum_{s=1}^{n} \frac{F_{k, s+1}}{F_{k, s} F_{k, s+3}}= & \frac{1}{k^{2}+1}\left[\frac{1}{F_{k, 1}}+\frac{1}{F_{k, 2}}+\frac{1}{F_{k, 3}}-\frac{k}{F_{k, n+1}}-\frac{k}{F_{k, n+2}}-\frac{k}{F_{k, n+3}}+(1-k) \sum_{s=4}^{n} \frac{1}{F_{k, s}}\right] \\
= & \frac{1}{k^{2}+1}\left[\left(\frac{1}{F_{k, 1}}+\frac{1}{F_{k, 2}}+\frac{1}{F_{k, 3}}-\frac{k}{F_{k, n+1}}-\frac{k}{F_{k, n+2}}-\frac{k}{F_{k, n+3}}\right)\right. \\
& \left.+(1-k)\left(\sum_{s=1}^{n} \frac{1}{F_{k, s}}-\frac{1}{F_{k, 1}}-\frac{1}{F_{k, 2}}-\frac{1}{F_{k, 3}}\right)\right] \\
= & \frac{1}{k^{2}+1}\left[k\left(\frac{1}{F_{k, 1}}+\frac{1}{F_{k, 2}}+\frac{1}{F_{k, 3}}-\frac{1}{F_{k, n+1}}-\frac{1}{F_{k, n+2}}-\frac{1}{F_{k, n+3}}\right)+(1-k) \sum_{s=1}^{n} \frac{1}{F_{k, s}}\right] \\
= & \frac{1}{k^{2}+1}\left[k\left(1+\frac{1}{k}+\frac{1}{k^{2}+1}-\frac{1}{F_{k, n+1}}-\frac{1}{F_{k, n+2}}-\frac{1}{F_{k, n+3}}\right)+(1-k) \sum_{s=1}^{n} \frac{1}{F_{k, s}}\right] .
\end{aligned}
$$

If the limits of both sides of the last equation are taken for $n \rightarrow \infty$, then we can write
$\lim _{n \rightarrow \infty} \sum_{s=1}^{n} \frac{F_{k, s+1}}{F_{k, s} F_{k, s+3}}=\lim _{n \rightarrow \infty} \frac{1}{k^{2}+1}\left[k\left(1+\frac{1}{k}+\frac{1}{k^{2}+1}-\frac{1}{F_{k, n+1}}-\frac{1}{F_{k, n+2}}-\frac{1}{F_{k, n+3}}\right)+(1-k) \sum_{s=1}^{n} \frac{1}{F_{k, s}}\right]$. By considering $\lim _{n \rightarrow \infty} \frac{k}{F_{k, n+1}}=0, \lim _{n \rightarrow \infty} \frac{k}{F_{k, n+2}}=0, \lim _{n \rightarrow \infty} \frac{k}{F_{k, n+3}}=0$ and from Theorem 2.1. we obtain

$$
\sum_{n=1}^{\infty} \frac{F_{k, n+1}}{F_{k, n} F_{k, n+3}}=\frac{k^{4}+k^{3}+2 k^{2}+1}{k^{2}\left(k^{2}+1\right)^{2}}+\frac{1-k}{k^{2}+1}\left(\sum_{n=2}^{\infty} \frac{(-1)^{n}}{F_{k, n-1} F_{k, n} F_{k, n+1}}\right) .
$$

Theorem 2.7. For $n \geq 2$, the equality

$$
\sum_{n=2}^{\infty} \frac{F_{k, 2 n}}{F_{k, n+1}^{2} F_{k, n-1}^{2}}=\frac{k^{2}+1}{k^{3}}
$$

holds.

Proof. From the [7], we can write

$$
F_{k, n+m}=F_{k, n} F_{k, m+1}+F_{k, n-1} F_{k, m} .
$$

If we get $n=m$ in the last equation, it is obvious

$$
\begin{aligned}
F_{k, 2 n} & =F_{k, n} F_{k, n+1}+F_{k, n-1} F_{k, n} \\
& =F_{k, n}\left(F_{k, n+1}+F_{k, n-1}\right) .
\end{aligned}
$$

By using the equation (1.1), we have

$$
\begin{equation*}
F_{k, 2 n}=\frac{1}{k}\left(F_{k, n+1}-F_{k, n-1}\right)\left(F_{k, n+1}+F_{k, n-1}\right)=\frac{1}{k}\left(F_{k, n+1}^{2}-F_{k, n-1}^{2}\right) . \tag{2.4}
\end{equation*}
$$

By using the equation (2.4) in the following equation, we have

$$
\begin{aligned}
\sum_{s=2}^{n} \frac{F_{k, 2 s}}{F_{k, s+1}^{2} F_{k, s-1}^{2}} & =\frac{1}{k} \sum_{s=2}^{n} \frac{F_{k, s+1}^{2}-F_{k, s-1}^{2}}{F_{k, s+1}^{2} F_{k, s-1}^{2}}=\frac{1}{k}\left[\sum_{s=2}^{n}\left(\frac{1}{F_{k, s-1}^{2}}-\frac{1}{F_{k, s+1}^{2}}\right)\right] \\
& =\frac{1}{k}\left[1+\frac{1}{k^{2}}-\frac{1}{F_{k, n}^{2}}-\frac{1}{F_{k, n+1}^{2}}\right] .
\end{aligned}
$$

If the limits of both sides of the last equation are taken for $n \rightarrow \infty$, then we can write

$$
\lim _{n \rightarrow \infty} \sum_{s=2}^{n} \frac{F_{k, 2 s}}{F_{k, s+1}^{2} F_{k, s-1}^{2}}=\lim _{n \rightarrow \infty} \frac{1}{k}\left[1+\frac{1}{k^{2}}-\frac{1}{F_{k, n}^{2}}-\frac{1}{F_{k, n+1}^{2}}\right] .
$$

By considering $\lim _{n \rightarrow \infty} \frac{1}{k F_{k, n}^{2}}=0, \lim _{n \rightarrow \infty} \frac{1}{k F_{k, n+1}^{2}}=0$, we have

$$
\sum_{n=2}^{\infty} \frac{F_{k, 2 n}}{F_{k, n+1}^{2} F_{k, n-1}^{2}}=\frac{k^{2}+1}{k^{3}} .
$$

## Competing Interests

The authors declare that they have no competing interests.

## Authors' Contributions

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

## References

[1] F. Büyükkılıç and D. Demirhan, Cumulative growth with Fibonacci approach, golden section and physics, Chaos, Solitons \& Fractals 42(1) (2009), 24-32.
[2] A. Brousseau, Linear Recursion and Fibonacci Sequences, The Fibonacci Association, San Jose (1971).
[3] L.M. Dabbour, Geometric proportions: The underlying structure of design process for Islamic geometric patterns, Frontiers of Architectural 1(4) (2012), 380-391.
[4] V.S. Dimitrov, T.V. Cosklev and B. Bonevsky, Number theoretic transforms over the golden section quadratic field, IEEE Transactions on Signal Processing 43 (1995), 1790-1797.
[5] M.S. El Naschie, The Fibonacci code behind super strings and P-Branes, An answer to M. Kaku's fundamental question, Chaos, Solitons \& Fractals 31(3) (2007), 537-547.
[6] M.S. El Naschie, The golden mean in quantum geometry, Knot Theory and Related Topics, Chaos, Solitons \& Fractals 10(8) (1999), 1303-1307.
[7] S. Falcón and A. Plaza, On the Fibonacci k-numbers, Chaos, Solitons \& Fractals 32(5) (2007), 1615 - 1624.
[8] M. Hejazi, Geometry in nature and Persian architecture, Building and Environment 40(10) (2005), 1413-1427.
[9] T. Koshy, Fibonacci and Lucas Numbers with Applications, Wiley, New York (2001).
[10] A.A. Ocal, N. Tuglu and E. Altinisik, On the representation of k-generalized Fibonacci and Lucas numbers, Applied Mathematics and Computation 170(1) (2005), 584-596.
[11] A.D. Richard, The Golden Ratio and Fibonacci Numbers, World Scientific Publishing, Singapore (1997).
[12] R.M. Ricketts, The biologic signijkance of the divine proportion and Fibonacci series, American Journal of Orthodontics 81(5) (1982), 351-370.
[13] N.N. Vorob'ev, Fibonacci Numbers, Blaisdell Publishing Company, New York (1961).
[14] R. Ward, On robustness properties of beta encoders and golden ratio encoders, IEEE Transactions on Information Theory (2008), 4324-4334.
[15] Z. Yosma, Fibonacci and Lucas Numbers, Master's thesis, Graduate School of Natural Sciences, Sakarya University, Sakarya (2008).

